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And if it is so, he should - 199 9P STTITY 927 TR 927 927 T RN AN
have said; these are the words of Rabi Mayer and Rabi Yehudoh

Overview

The X713 claims that 7717 ' cannot agree with 7°&» ' (that a 73vp has no 01p), since
regarding the m1wn (later), which states that a 71vp has no 01p, we find that 7717 ™
27 K stated, ‘this 71wn follows the view of 7°KXn ', however the 0°251 maintain that
a mvp has 03p’°. Since 7"X °"1 just mentions 7"7 (and not 777 ") this proves that *"'7
disagrees with n"9, for otherwise 27 71K *"7 would have said, "1 »n"3 *727 37", Our
moon first challenges and then explains this proof.

mooIn anticipates a difficulty:
= (OW) 2,50 P1130) NN 7T PID GIDA NN 295 11D XIAD NIYND 129 11397 2297 22 HY 9N)

And even though that 3n1° '3 and WK '3 agree with 2''9 in the end of '7 P95

NINs»; they both agree with n" -
= 2NN NNNA PIY DAY PIIY TY YT 105 13929 vIvab

According to the explanation of the n''%, who explained, ‘until they are both

equal with the same death penalty’ -
= 4199 X920 9N 295 APWUN? 2329 01PN YN PYUNY 33 W17 30900PN WITaY 159N

And even according to >''w=2 who explains that ¥ 071w 17w means that they
are old enough to receive punishment, nevertheless 7>@wX> '3 agrees with »''9 -

- SADTINMI NIVP Y0 KN 5919 57993 IND (3,0 91 1APY 1939 SWATT KD %Y 1994
For 7wX> "1 does not maintain this which the j129 expound later; ‘here it states,
'mwi' (with a 'R"7"), ete.’, for TWR* 'Y exempts a TOVINM WP from the rules of a 773

707N -
= PYNY 529) IINM 29 9937 1T MNP XY DIPNI YN

Nevertheless (even though 7wX> "1 [and 1011 '] agree with 1), 27 KX ", did not

say this is the view of 2% and 3''9, so what proof is there from the fact that he also did not
say 717 "N 2"7 2727 17! We see that he does not mention all who agree with n"9!

!'See ‘Appendix’ A & C.

2 See ‘Appendix’ D.

3 See ‘Appendix’ B.

4 See ‘Appendix’ E.

3 The a7 writes, regarding a ¥y1 oW XX (in 2,20 2>127), "N AW 2AR? 11NN 02 782 MR Wi, This is the only time

that we find the word 77y1 with a X"71; elsewhere in the 770 it is written 7y1 (without a X"7). The 7127 maintain that

only by 2"w¥ is there the requirement that she is a 771, but everywhere else (like 01K?7 7791 29 ®827) the word 3

includes even a favp. See ‘Thinking it over’.

6 PWwR> " maintains 7072 PW YW 7Y, so by 707IRAA 7I0R BV XA there is no n°»; not like the 1327, but rather like »"A.
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mooIn responds:
= 1159 %9250 NN $29) 9INM 239 5937 1T NON 299 NUT

For the challenge here that he should have said 5'"91 %' 5927 11, was not asked,
just merely to add on another name (for we see that other names are not mentioned even though
they agree with n"”) -

= 1199 2097 05N YDA %N NN 2297 NNV 93 HINY 2297 DIVN NON
Rather the reason the X773 asks that he should have mentioned > is only because
''9 is the disputant with %" throughout 0"v, and he is presumably included in

the 2951 who argue with %''9 (as 27 72X °"1 stated 191 22X 2°1RI1 HaK) -
- 1Y% 5299 PR 29 3927 13 915 199 1 1Y NYT NN ON Y37

So therefore, if it is so that °"1 is not arguing with "9, he (27 7% *"7) should have
said, 5'"71 12''9 9927 37, so we should not mistakenly assume that here too >"7 is arguing with "1 —

mooIn has another difficulty:
$TINY 2295 NY 920 NINNNIY TNIN NPYNY 239 299 NN 919910 1Y MNT HVP DaN

However, there still is a difficulty; for the X723 should have said, ‘this Xn*92 is
according to mWN° ' (who maintains [like n"1] that a 7ivp has no 01p) and
regarding a nixn»n he agrees with °''9 that she can be 181 (even) when she is a 7.

Summary
There are others who agree with n"9, however if "7 (who regularly disagrees with

n'") agrees here with »"9, it should have been mentioned.

Thinking it over
Moo writes that 7wR* " does not agree with the 7w 7 of the 1327 from "W 83'.8
Why was it necessary for N19010 to mention this, we already know previously from

this NdOIN that 7WwX> " agrees with 2"7 and argues on the 71277

Appendix
A. There is a dispute there in 177710 between »"7 and the 13127 regarding one who is

mOMNAT w1 9y X2 According to »"A it applies only to a w3, but not to a 7Ivp,
while the 1127 maintain it applies to a m1vp as well. The X3 asks, according to n"9,
what is the rule regarding someone who was 770MR»7 7VP %Y K3; is he just exempt

" Instead of answering that it is a ‘new’ Xin, the X3 could have answered that the Xn>>12 is in accordance with 7wx> A
(who happens to agree with 777 ' regarding a niknn).
8 See footnote # 5.
? They are both 77°p0 271n.
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from 779°p0,'° but he is liable for pan,!'! or is he entirely free from 70 (since we
cannot fulfill the o7°aw 23 1nm1) 2. Initially 21 answered that he is a1 21 However,
21 could not justify his ruling since it states'® 273w 23 1nm1. The X3 there continues
that this (how we expound 2m°1w 03 M) is a XN NP2 between WX ' and "
111, According to 1w " we follow the 105 of 01w 23 1M1 that DWW OAPIw 1Y T
(so there is no 7 by m10pP Yy X2) while 111> " follows another P10 of 4 woR77
172 7Y 20w WK (so there is N by mvpn HY Ra7).

B. "1 explains the meaning of "W 07°1w 1°7°Y to mean that they are executed only
if both are 71N 2711, so by 7avpP where she is not 710 217 he is also not 707 2717,
C. mpon explains 2w oY 1w 7Y to mean that they are equal and receive (if they
would be liable) the same type of death penalty (nnAR 7012 oW 17°w 7v). Therefore,
according to the 1327 that by 707%» mIvp ¥ X277 there is a 72°pd 2vn just like by a
77w1, therefore since she would have received 112°p0 (had she been a 7791) and he
receives 2P0 (for according to the 1127 the rule of 70NN 7W1 applies to a mIvP as
well); they are nnX 7n°»2. However, according to »n"1 that a mivp 1s excluded from
the rules of a 107 KM7 7v3, his 70 should have been 21, and her 7n°» had she been
a 1wl is 1?°pY, therefore they are not nnX 7n°»a and he is exempt from 0.

D. According to m»oIn it is obvious that 7wWX> ' agrees with n"9 (that 771 excludes
mvp), for if he would agree with the 7127 (that 771 includes 71vp), they are both
nnX 1n°n3a; he should receive 177°p0. Even 101 ' agrees with »"9, for if he agreed
with the 7127, he would not need the P09 of 1725 X777 W R N to teach us that he is
1N 270, since they are both nnX 7n°»3 according to the 1327.

E. Similarly, according to >, since 7°wX> "1 expounds 271w 0i to exclude him from
nn°n (since the mvp will not receive i), this follows the view of 2" that there is
no 1n°» by mwvpn %Y Xan. However, 1011 'Y who does not require that they both be 12
w1y (for he expounds 1727 72y 20w WK WK M), he will receive 01, even though
she does not. Therefore jn11° "1 can agree with the 7127 (not like »'").

10 There is a 77°p0 211 if one is Y12 a 7OMRAT 7W1 only; however, if one is Y312 a IXW1 (an WX NWX) he receives pan.
! The laws of 70m8n7 7w1 do not apply since she is a 710, however since she was married, he should receive pan.
12 The 7m0 writes (in 23,25 [X¥N] 0127) regarding one who is 12 (a 7XW1) a married woman, DI 03 \NAY; so in our
case, since she is not punished, for she is a 711vp, he is also not punished for we require o7°1w 03 \nMY, both the man and
the woman.
13 35,25 (X¥N) 27 regarding one who has relations with an X nwx (who is a axw3). See footnote # 12.
14 See 113,20 [®xn] @127. Regarding one who was D187 a 772 7oA 77w (where only he is executed).
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